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فهرست‌مطالب

تبدیل‌کسينوسی‌صحيح•
تصاویر‌پایه–
ویژگی‌ها–

پردازش‌بلوکی‌تصاویر•
(quantization)چندی‌‌کردن‌ضرائب‌•
JPEGاستاندارد‌فشرده‌سازی‌•
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تبدیل‌کسينوسی‌گسسته

:مفروض‌استx(n)نمونه‌ای،‌Nیک‌سيگنال‌•

فشرده‌سازی
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...(ادامه)گسستهتبدیل‌کسينوسی‌
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متناوب‌کردن‌تصویر

فشرده‌سازی
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تبدیل‌کسينوسی‌گسسته
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8x8تصاویر‌پایه‌ی‌کسينوسی‌برای‌یک‌بلوک‌تصاویر‌پایه

فشرده‌سازی
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مثال

y00
y01 y10 y12

y23+DC

ACضرایب‌

فشرده‌سازی
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DCTو‌FFT

فشرده‌سازی
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«پوشانناهمبلوک‌های»بهتصویرابتداتصویرفشرده‌سازیبرای
ایفضدربلوکهرکم‌اهميت‌مؤلفه‌هایسپسوشدهتقسيم
.می‌شوندحذفتبدیل



DCTو‌FFT
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ناگهانی‌لبه‌‌تغييرات‌
(معادل‌فرکانس‌بالا)

تغييرات‌نرم

DFT

DCT
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FFT /DCTدر‌مقادیر‌ضرایب‌DCTدر‌حقيقی‌ولی‌DFTمختلطند

ضرایب‌کم‌تربا‌استفاده‌از‌DCTبهتر‌در‌تقریب‌

فشرده‌سازی
http://www.cs.cf.ac.uk/Dave/Multimedia/node231.html
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یاهميت‌نسبی‌ضرایب‌تبدیل‌کسينوس

فشرده‌سازی
13



مثال
f = imread('cameraman.tif');

imshow(f,[ ]);

J = dct2(f);

figure;

imshow(log(abs(J)),[ ]), colormap(gray),

colorbar;title('DCT2');

figure

imshow(log(abs(J)),[ ]), colormap(jet(64)),

colorbar;title('DCT2');

K = idct2(J);

figure;imshow(K,[ ]);

فشرده‌سازی
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;f = imread('cameraman.tif')مثال

imshow(f,[]);

J = dct2(f);

a=ones(size(f));

a(:,(size(f,2)/2):end)=0;

J2=J.*a;

figure;imshow(log(abs(J2)),[]);

K = idct2(J2);

figure;imshow(uint8(K),[]);

Diff=f-uint8(K);

figure;imshow(Diff,[]);

فشرده‌سازی
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;f = imread('cameraman.tif')مثال

imshow(f,[]);

J = dct2(f);

a=ones(size(f));

a((size(f,2)/2):end,:)=0;

J2=J.*a;

figure;imshow(log(abs(J2)),[]);

K = idct2(J2);

figure;imshow(uint8(K),[]);

Diff=f-uint8(K);

figure;imshow(Diff,[]);
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;f = imread('cameraman.tif')مثال

imshow(f,[ ]);

J = dct2(f);

a=ones(size(f));

a((size(f,2)/2):end,(size(f,2)/2):end)

=0;

J2=J.*a;

figure;imshow(log(abs(J2)),[ ]);

K = idct2(J2);

figure;imshow(uint8(K),[ ]);

Diff=f-uint8(K);

figure;imshow(Diff,[ ]);

فشرده‌سازی
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;f = imread('cameraman.tif')مثال

imshow(f,[]);

J = dct2(f);

figure;imshow(log(abs(J)),[]);

a=zeros(size(f));

for i=1:size(f,2)/2

for j=1:((size(f,2)/2)-i)

a(i,j)=1;

end

end

J2=J.*a;

figure;imshow(log(abs(J2)),[]);

K = idct2(J2);

figure;imshow(uint8(K),[]);

Diff=f-uint8(K);

figure;imshow(Diff,[]);

فشرده‌سازی
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بلوک‌بندی

صویرتبلوک‌بندیتصویر،پردازشدرکاربرد‌هاازبسياریدر•
قرارپردازشموردبلوکهرآنازپسوشدهانجام

.می‌گيرد
ویربهموازیصورتبهبتوانمی‌شودسببمسألهاین•

صورتهم‌زمانپردازشتصویرازکوچک‌تریبخش‌های
.داد

.ی‌رودمبالاپردازشسرعتیافته،افزایش‌سيستمبازده•
.استدوازتوانیبلوک‌هااندازه‌یمعمولا‌ً•

.استمتغيربالاترو2×2ازاندازهکاربردبهبسته–
نظردر۸×۸بلوک‌هااندازه‌ی(استاندارد‌ها)مواردبيشتردر•

.می‌شودگرفته

Blocking

فشرده‌سازی
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مثال

فشرده‌سازی
20

siz=8;

I = imread('cameraman.tif');

fun = @dct2;

J = blkproc(I,[siz siz],fun);

figure;imshow(I,[ ]);

figure;imagesc(J), colormap(jet);

fun = @idct2;

I2 = blkproc(J,[siz siz],fun);

figure;imshow(I2,[ ]);



siz=16;

I = imread('cameraman.tif');

fun = @dct2;

J = blkproc(I,[siz siz],fun);

figure;imshow(I,[ ]);

figure;imagesc(J), colormap(jet);

fun = @idct2;

I2 = blkproc(J,[siz siz],fun);

figure;imshow(I2,[ ]);

فشرده‌سازی
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siz=16;

I = imread('cameraman.tif');

fun = @dct2;

J = blkproc(I,[siz siz],fun);

figure;imshow(I,[]);

figure;imagesc(J), colormap(hot);

a=ones(siz);a(3:siz,3:siz)=0;

figure;imshow(a,[]);

fun = @(x) (x).*a;

J2 = blkproc(J,[siz siz],fun);

figure;imagesc(J2), colormap(hot);

fun = @idct2;

I2 = blkproc(J2,[siz siz],fun);

figure;imshow(I2,[]);
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مثال

8x8 block implementation

فشرده‌سازی
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siz=16;I = imread('cameraman.tif');

fun = @dct2;

J = blkproc(I,[siz siz],fun);

figure;imshow(I,[]);

figure;imagesc(J), colormap(hot);

a=zeros(siz);a(1:2,1:2)=1;

figure;imshow(a,[]);

fun = @(x) (x).*a;

J2 = blkproc(J,[siz siz],fun);

figure;imagesc(J2), colormap(hot);

fun = @idct2;

I2 = blkproc(J2,[siz siz],fun);

figure;imshow(I2,[]);
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مراحل•
اعمال‌تبدیل‌به‌روی‌تصویر–
کدگذاری‌ضرایب‌تبدیل–
ارسال‌داده‌ها–
بازسازی‌تصویر‌با‌استفاده‌از‌داده‌های‌ارسالی–

مزایا•
.انرژی‌در‌ضرایب‌محدودی‌فشرده‌شده‌است–
مقاومت‌در‌برابر‌خطا‌های‌کانال‌ارسالی–

کدگذاری‌دامنه‌ی‌تبدیل

فشرده‌سازی
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کدگذاری•
(Zonal Coding)ناحيه‌ای‌–

.تنها‌ناحيه‌ای‌از‌ضرایب‌ارسال‌می‌شود•

(Threshold Coding)آستانه‌ای‌–
.باشدتنها‌ضرایبی‌ارسال‌می‌شود‌که‌از‌ميزان‌آستانه‌‌بالاتر•

کدگذاری

Zonal Coding

فشرده‌سازی
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Compression!!!

120   134    24    17

145   145   230    25

16   234    23    18

23    24    28    19

306.2500  104.8835 -114.7500  -45.3384

100.0207   62.2961   -1.1577   30.1075

-111.7500   -6.2990   99.2500    5.0445

-55.7716   26.1075   -7.3678 -160.7961

فشرده‌سازی
27



سیکسينوضرایبدقتازکردنچندیوسيله‌یبه•
دیرمقابهتبدیلکهگونه‌ایبهمی‌شودکاسته
.گردندصحيح

ضرایبازبسياریکهمی‌شودباعثمسالهاین•
.گردندتبدیلصفربهبالافرکانس‌های

رتصوشدنچندیآنازاستفادهباکهآستانه‌ای•
‌ینتيجهکهمی‌شودانتخاببه‌گونه‌ایمی‌پذیرد
قابلانسانچشمبرایممکنحدتابازسازی
.نباشدرویت

چندی‌کردن
Quantization

فشرده‌سازی
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مثال

ضرایب‌کسينوسی

نمودنمحدوده‌ی‌چندی‌

ضرایب‌چندی‌شده

شدهضرایب‌بازسازی‌

Quantization=
4

فشرده‌سازی
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DCTضرایب‌

کنندهماتریس‌چندی‌

ی‌‌ماتریس‌نتيجه‌ی‌چند
شده

کننده‌ماتریس‌چندی‌
ازی‌برای‌بازساستاندارد‌

فشرده‌سازی.استفاده‌خواهد‌شد
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بلوک‌بندی‌تصاویر•
 ۸fi(m, n)×۸زیر‌تصویر‌های‌f(m, n)تصویر‌–

[0,2L-1]فرض‌می‌کنيم‌مقادیر‌روشنایی‌–

:تبدیل‌می‌شودgiبا‌رابطه‌ی‌زیر‌به‌fiهر‌•
gi(m, n)=fi(m, n)-2L-1

JPEGمراحل‌الگوریتم‌

31
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...(ادامه)JPEGمراحل‌الگوریتم‌

چگونگی‌الگوریتم‌فشرده‌سازی•
بلوک‌بندی‌تصویر‌–
اعمال‌تبدیل‌گسسته‌ی‌کسينوسی–
چندی‌نمودن‌ضرایب–
پویش‌زیگزاگ‌ضرایب–
کدگذاری‌آنتروپی–
ارسال–

فشرده‌سازی
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•gi(m, n)ورودی‌تبدیل‌DCTهستند‌که‌نتيجه‌ای‌
.دارندDi(k1, k2)همانند‌

ه‌ی‌ماتریس‌چندی‌کننده‌ای‌در‌نظر‌گرفته‌شده‌رابط•
:زیر‌به‌دست‌می‌آید

مرتب‌نمودن‌زیگزاگ•
رمزگذاری‌مقادیر•

–DC

–AC

...(ادامه)jpegمراحل‌الگوریتم‌

( 1, 2)
( 1, 2) [ ]

( 1, 2)

i
iq

D k k
D k k round

T k k 




ميزان‌ریزش
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پویش‌ضرایب

می‌پذیردصورت‌زیگزاگ‌به‌صورت‌پویش‌ضرایب‌

فشرده‌سازی
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DCکدگذاری‌مؤلفه‌ها‌ی‌

بلوک‌های‌DCمولفه‌های‌اختلاف‌
می‌شوندکد‌متوالی‌

فشرده‌سازی
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)(nf

n

155,154,154,156,156,158,158,157,156)( nf

)(nf

n

( ) 156,1,1,0, 2,0, 2,0,1f n   

Differential Pulse Code Modulation (DPCM)
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در‌این‌شيوه‌ی‌کد‌نمودن‌از‌تعداد‌صفر‌ها‌و‌عناصر•
:غير‌صفر‌استفاده‌می‌شود

(0,-33) (0,21) (0,-3) (0,-2) (0,3)(0,-4) (0,-3) 

(1,2) (0,1) (1,1) (1,-2) (0,-1) (0,-1) (3,-2) 

(11,1)

[-33, 21, -3, -2, -3, -4, -3, 0,

2, 1, 0, 1, 0, -2, -1, -1, 0, 0, 0,

-2, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0,

1, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 

0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0,

0, 0, 0, 0, 0,0]

00-1-2-4-3-33102

000-10-3-221

0000010-3

00010002

00000001

0000000-2

00000000

00000000

فشرده‌سازی
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Run-Level coding



(RUN, CAT)

CAT is the category for the amplitude of 

a nonzero coefficient in the zigzag 

order, and RUN is the number of zeros 

preceding this nonzero coefficient

فشرده‌سازی
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گروه‌بندی‌مقادیر

Table is from slides at Gonzalez/ Woods DIP book website (Chapter 

8)

فشرده‌سازی
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ACضرایب‌

DCضرایب‌

Gonzalez, R. C. and R. E. Woods (2002). Digital image processing

Table is from slides at Gonzalez/ Woods DIP book website (Chapter 

8)

فشرده‌سازی
40



مثال•
Codeword for the DC coefficient

DIFF = 31 - 28 = 3 CAT = 2 

CAT is 100 DIFF = 3 > 0 the DC coefficient is 10011

Codeword for the AC coefficients

the codeword for (0, 5) is 11010

AC=18

1101010010

AC=-21

the codeword for (0, 5) is 11010 1101001010

AC

DC

41
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مثال

ACارسالی‌برای‌ضرایب‌قطار‌بيت‌

بيت85تعداد‌بيت‌های‌ارسالی‌

Ghanbari, M. a (2003). Standard codecs: image compression to advanced video coding, Institution of Electrical Engineers.

فشرده‌سازی
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آن‌برای‌مقایسه‌ی‌تصویر‌بهترین‌معيار‌مشاهده‌ی•
است

معيار‌کيفی‌است–
وابسته‌به‌احساس‌بشر–

معيار‌کمی•
(MSE)مجموع‌مربعات‌خطا‌–
(SNR)نسبت‌توان‌سيگنال‌به‌نویز‌–

مقایسه‌ی‌تصویر

21 1

0 0

ˆ( , ) ( , )
M N

m n

f m n f m n

MSE
MN

 

 

 
 




1 1
2

0 0

21 1

0 0

( , )

ˆ( , ) ( , )

M N

m n

M N

m n

f m n

SNR

f m n f m n

 

 

 

 



 
 




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استdbپاسخ‌بر‌پایه‌ی‌•

بيت‌بتوان‌Bبه‌صورت‌کلی‌اگر‌هر‌پيکسل‌را‌با‌•
نشان‌داد،‌فرمول‌مذکور‌به‌صورت‌زیر‌تغيير‌

می‌نماید

PSNR

2255
10 log( )PSNR

MSE
 

Quality Metrics

peak signal-to-noise ratio

2(2 1)
10 log( )

B

PSNR
MSE


 
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معيار‌خوبی‌است؟PSNRآیا‌

MSE=100.006 MSE=48.82
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4۸

PSNR=22.78

PSNR=22.87PSNR=22.97



استاندارهای‌جدید

49
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استاندارهای‌جدید

The blocking, color banding and aliasing artifacts of heavily compressed 

JPEG (left), while the heavily compressed BPG (right) looks much 

smoother
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